


2/11



3/11



4/11



QUEEN BED
FM7425-Q-P

®

= fﬁfffffﬂ
HEADBOARD HB LEG (R/L) HB SUPPORT RAIL
1pc 2pcs 1pc

®

)

WINGS L/R
2pcs

®

N

SIDE RAIL
2pcs

@

<«

SLAT ROLL
1set

©
-

LOCK WASHER @5/16"

BOLT @5/16" x 1-3/4" BOLT @5/16" x 2-3/16"

FLAT WASHER @5/16"

FOOTBOARD
1pc

=

SUPPORT LEG
5pcs

®
—

ALLEN WRENCH 5MM

®

10pcs 8pcs 18pcs 18pcs 1pc
® — G O
THREADED STUD @5/16"x3-1/2" HEX NUT @5/16" WRENCH @12mm SCREW 8 x 30mm WOOD COVER
8pcs 8pcs 1pc 10pcs 8pcs

5/11



EXPLODED VIEW




FM7425-Q-P is packed in 4 cases

Carton

Disignation

Part

Hardware

FM7425Q-HB-P

Headboard

H/Board Leg (R/ L)

“-‘.v
HB Support Rail / ® 3 8pos
FM7425-Q-FB Footboard /
- : : F 8pcs
Side Rail
FM7425-Q-R ® G s
Slat :E H 1pc
@ I 10pcs
Support Leg mmmmm
FM7425-WP Wings ﬁ ﬁ




ASSEMBLY INSTRUCTIONS

1

Part @lec
Part @prCS

Part @x1pc
Hardware®x10pcs

HardwarexlOpCS

2

Part @prCS

Hardwarex8pCS

Hardware©x8pcs
Hardware@xSpcs

5/

8/11



3

Part (@)x1pc
Part @prCS

Hardware 8pcs
Hardware( G )x8pcs

Hardware@xlpc

A

Part @xlset
Part x5pCS

ASSEMBLY INSTRUCTIONS

9/11



ASSEMBLY INSTRUCTIONS

5

Hardware®<10pcs

OPTION 1

ASSEMBLY
COMPLETED

Please ensure the

furniture rests on an even
and flat surface.|f the
product wobbles or feels
loose,double-check all
bolts and/or screws are

properly tightened and
secured.

L

@ Keep this handy!

Please retain this instruction
manual and any order-related
information for future reference.

@ Lift, don't drag!

To avoid damage to product
please alwavs LIFT the product
when transporting of adjusting
the placement.

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

10/11



ASSEMBLY INSTRUCTIONS

7

Hardware@xSpcs

OPTION 2

If not using wings, assemble the wood covers into
the boreholes as shown in the instruction photo.

\

ASSEMBLY
COMPLETED

Please ensure the

furniture rests on an even
and flat surface.|f the
product wobbles or feels
loose,double-check all

bolts and/or screws are
properly tightened and
secured.

@ Keep this handy!

Please retain this instruction
manual and any order-related
information for future reference.

@ Lift, don't drag!

To avoid damage to product
please alwavs LIFT the product
when transporting of adjusting
the placement.

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

11/11




	Sheets and Views
	Model

	2.pdf
	Sheets and Views
	Model


	3.pdf
	Sheets and Views
	Model


	4.pdf
	Sheets and Views
	Model


	7.pdf
	Sheets and Views
	Model


	11.pdf
	Sheets and Views
	Model


	5.pdf
	Sheets and Views
	Model


	6.pdf
	Sheets and Views
	Model


	10.pdf
	Sheets and Views
	Model


	9.pdf
	Sheets and Views
	Model


	8.pdf
	Sheets and Views
	Model





